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Who called Thomas Kyd as “Sporting Kyd” ?
A : Johnson B : Robert Greene C : Thomas Sackville D : Thomas Norton

Who is in Love with the Fairy Queen in Spenser’s Faerie Queene ?
A : King John B : King Arthur C : King Henry VIl D : Edmund Spenser

says, for those with power to read, “The word should be as cousin to the deed”.
A : Socrates B : Aristotle C : Plato D : Seneca

is the God of wine.
A Zeus B : Hymen C : Thalia D : Bacchus

The second charge against poetry about which Sidney argues is :
A : Poetry is the oldest form B : Poetry is the mother of lies
C : Poetry is Philosophy D : Poetry is Science

Which edition does Sidney’s “An Apology for Poetry” follow ?
A : Olney B : Ponsonby C : Blackwell D : Norton

Dr. Johnson had a dislike for Milton on the following grounds.
A : Social issues B : Economic issues

C : Socio-economic issues D : Religious and Political issues

Whom does the speaker addresses to in the first stanza of Herbert’s poem “Affliction”?
A : Himself B: God C : His friend D : His wife

‘To His Coy Mistress’ was written by :
A : Edmund Waller B : Andrew Marvell C : George Herbert D : Richard Crashaw

What is the Figurative language of the third from ‘The Ecstasy’ , ‘Violet’s reclining head’ ?
A : Juxtaposition B : Imagery C : Personification D : Hyperbole

Who is the ‘Celestial Patroness’ (1X, 21) that Milton refers to in his invocation ?
A : Baal B : Urania C : Dagon D : Astarte

In “Life of Milton”, Dr. Johnson states that Milton had read :
A : French authors B : Roman authors C : Greek authors D : Indian authors

What kind of poetry is Shelley’s Adonais ?
A : Lyric B : Sonnet C : Ballad D : Elegy

‘A man’s reach should exceed his group’ is from :

A : My last Duchess B : Fra Lippo Lippi C : Porphyria’s Lover D : Andrea del Sarto
Matthew Arnold admires Burns for his poems.
A : Irish B : Scotch C : British D : American

The story of Andrea in “Andrea Del Sarto” is taken from
A : Lippo Lippi B : Duke of my last Dutchess C : Vasari’s LivesD : Dutchess

Robert Browning’s Andrea Del Sarto appears in
A : Bells and Pomegranates B : Christmas Eve and Easter Day
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C : Men and Women D : Sonnets from the Portuguese

Matthew Arnold introduced which of the following word into literary criticism to determine the relative value of
the passages or poems ?
A : Fallacious B : Parameter C : Evaluation D : Touchstone

The lines “This strange disease of modern-man with its sick hurry, its divided aims” appear in Mathew Arnold’s :

A : The Buried Life B : The Scholar Gypsy

C : Dover Beach D : The Strayed Reveller

The roots of Shakespeare’s “Macbeth” lie deep in the preoccupation with tragedy as the fall of great
men or woman, brought low by fortune’s wheel.

A : Gothic B : Medieval and Renaissance C : Senecan D : Platonian

The name Miranda in ‘The Tempest’ can roughly be translated as she who must be admired and this word is a

A : Latin gerundine B : Greek gerundine C : Spanish gerunding D : Italian gerundine

Which witch claims Macbeth as the Thane of Cawdor ?
A : First witch B : Second witch C : Third witch D : All the given option

What type of plays is “The Tempest” ?
A : Tragedy B : Pastoral comedy
C : Romance and Pastoral tragi-comedy D : Farces

Who was ‘untimely ripp’d’ from the mother’'s womb ?
A : Malcolm B : Macduff C : Macbeth D : Donalbain

How did Macbeth address the witches in his first encounter ?
A : perfect speakers B : serious speakers

C : heartless speakers D : imperfect speakers

Sylvia Plath compares ‘Daddy’ to

A : Nazi B : Hitler C : Vampire D : All the give option
In the title, Passage to India, the word is used as a symbol.

A : India B : Voyage C : Travel D : Passage

The Old Man and The Sea, claimed by as “his (Hemingway’s) best” and the best single piece of any of
us, has justifiably drawn critical attention over the decades since its publication in 1952.

A : Carlos Baker B : E.M. Forster C : Faulkner D : Samanesh Basu

Mention the name of the two books, piled up perfectly exact, on each corner of the table in the novel “The
Adventures of Huckleberry Finn”.

A : The Bible, Paradise lost B : The Bible, Paradise regain

C : The Bible, Pilgrim’s Progress D : The Bible, L’Allegoro I'Penseroso

Whom did the Cambridge ladies believe in ?

A : Contemporary pulp fiction B : Christ and Long fellow

C : Venus and Dickinson D : Apollo and Whitman

The following line appears in the poem . “If I've killed one man, I've killed two.”

A : The Bell Jar B : The Bee keeper’s Daughter
C : Daddy D : Black Rook in Rainy Weather

In Kantapura, Moothy educates his villagers on :
A : cleanliness B : the importance of learning English
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C : unity D : the evils of colonization

Aananda Coomaraswamy’s The Dance of Shiva is a study on :
A : religion B : Hindu architecture C : art and aesthetics D : atheism

Sarojini Naidu has tried to catch and reproduce in English the lilt and atmosphere of folk songs in her poem

A : The Indian Weavers B : The Wandering Singers
C : The Palanquin-Bearers D : Love and Death

What is the predominant traditional element in ‘Tagore’s Gitanjali’ ?
A : Saiva B : Vaishnava C : Buddhist D : Jain

The title of the play “Mukta Dhara” refers to
A : Mountain B : River C : Mountain spring D : Ocean

Who is the Goddess of the village Kanthapura ?
A : Mariyamma B : Durga C : Kenchamma D : Kaliyamma

How does Samuel Beckett describe “Waiting for Godot” in its English version ?
A : “A tragi-comedy in two acts” B : “A tragedy in two acts”
C : “A comedy in two acts” D : “An absurd play in two acts”

Which of the following can be considered as “an exploration of textual logic in literary texts” ?
A : Sociological criticism B : Historical criticism
C : Liberal Humanism D : Deconstructive criticism

Which of the following plays by George Bernard Shaw is described as a tragedy ?
A : Pygmalion B : Mrs Warren’s profession

C : The Doctor’s Dilemma D : Arms and the Man

Bernard Shaw is a man of almost infinite
A : jurisprudence B : life skills C : theatrical skills D : poetic skills

is the law of motion and a reader is no exception to it.
A : Dynamics B : Movement C : Kinesis D : Dialectics

Psychoanalytic criticism was continued by Freud’s biographer :
A : Ernest Jones B : Otto Rank C : Freeman Sharpe D : Marie Bonaparte

The word “hospitality” in old English was called

A : gadrian B : giestlipnes C : geferascipe D : gaderscipe
The theory is associated with the name of the eminet German Scholar and philologist Max Muller.
A : The bow-wow theory B : The ding-dong theory C : The pooh-pooh theory D : The gesture theory

“Beowulf” is a literary work of
A : Old English B : Middle English C : Modern English D : Chaucer

What is the original meaning of “Persona” ?
A : Person B : Play C : Mask D : Stage

Which language has given religious terms to English ?
A : Scandinavian B : American C : Hebrew D : Latin

Who published a system called New Spelling, the recommended orthography of the Simplified Spelling Society in
1948 ?
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A : Otto Jesperson and JDO Connor B : A.C. Gimson and J. Clark
C : Daniel Jones and Harold Orton D :J.C. Wells and P.J. Roach

I.A. Richards distinguishes four different kinds of meaning. They are :
A : Sense, tone, text and discourse B : Sense, feeling, expression and tone
C : Sense, intention, discourse and tone D : Sense, feeling, tone and intention

Katharsis’ suggests the sense of
A : Emotion B : Purification C : Confusion D : Association

Who is the son of Hieronimo in The Spanish Tragedy ?
A : Horatio B : Lorenzo C : Don Cyprian D : Don Pedro

The lines “Drink to me only with thine eyes” And | will pledge with mine were written by :
A : Shakespeare B : Edmund Spencer C : Milton D : Ben Jonson

The ‘blood and thunder’ element of Kyd’s drama resembles Shakespearean drama :
A : Memisis B : Attractive feature C : Weaknesses D : Experiment

Who is Arethusa in Dr. Faustus ?
A : Good Angel B : Evil Angel C : Mother of Dionysus D : Anymph

Where did Job live ?
A : Jerusalem B : Palastine C: Theland of Uz D : The Mount Abode

Dryden’s ‘All for Love’ is a tragedy written in
A : Couplet B : Blankverse C : Metaphor D : Allegory

Which character utters the famous line “if you wanted authority over me, you should have adopted me and not
married me” ?
A: Lady Teazle B : Maria C : Lady Sneerwell D : Mrs. Candour

in The Pilgrim’s Progress is a hybrid being, part dragon, bear, human and fish.
A : Hypocrisy B : Pliable C : Caliban D : Apollyon

accompanies Christiana and her children on their pilgrimage.
A : Help B : Pliable C : Mercy D : Hypocrisy

Goldsmith’s “She Stoops to Conquer” is also referred to by the title :
A : The Mistakes of a Day B : The Mistakes of a Twilight hour
C : The Mistakes of an evening D : The Mistakes of a night

Who among the following was almost a classicist in an age of romanticists ?
A : Jane Austen B : Walter Scott
C : Mathew Gregory Lewis D : Maria Edgeworth

Shelley begins “Defence of Poetry” by pointing out :
A : The difference between reason and imagination B : To clarify the relation of imitation
C : To sympathy with ideas of other poets D : To criticise other poets

Who spoke these words to Emma in the novel ‘Emma’ written by Jane Austen ? “Pray do not make any more
matches”.
A : Mr. Elton B : Mr. Martin C : Frank Churchill D : Mr. Woodhouse

‘I am Heathcliff’, Cathy cries in Wuthering Heights. The man and women in Emily’s work are apt to meet each
other on the grounds of passionate mutual identity ? What does these statements refer ?

A : Emily’s characters appear to be gendered B : Emily’s characters appear to be biased

C : Emily’s character appear to be farcical
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D : Emily’s men and women appear to be ‘sexless’

“Language of prose may yet be well adapted to poetry”. In which work this definition is quoted ?
A : A defence of poetry B : The study of poetry
C : Biographia literaria, chapters XIV, XVII D : Preface to Lyrical Ballads

What are the instruments and materials of poetry, according to Shelley in ‘A Defence of Poetry’ ?

A : Language, colour, form and religious and civil habits of action

B : Style, diction, rhyme and rhythm

C : Genre, words, meters and rhyme scheme D : Diction, form, expressions and emotions

“Poetry is the record of the best and happiest moments of the happiest and best minds”. Whose words are
these ?
A : Keats B : Coleridge C : Shelley D : Wordsworth

What is the important theme of “Emma” ?
A : Frustration B : Despair
C:Joy D : Pursuit of engagement and marriage

Who represents the elevation of the destructive animus to the centre of the structure of the novel ‘Wuthering
Heights’ ?
A : Cathy B : Heathcliff C : Mr. Lockwood D : Edgar

What is the impetus behind the story of ‘Wuthering Heights’ ?

A : To believe supernaturalism B : To find friendship

C : To celebrate joy D : To find the self as ‘real’
Thomas Hardy’s attacks Victorian class consciousness and social convention.
A : The Mayor of Caster bridge B : Tess of D’Urbervilles

C : Far from the madding crowd D : Jude the obscure

The Picwick Papers is a work by :
A : Charles Dickens B : Virginia Woolf C : George Eliot D : Thomas Hardy

The idea of representational realism is fully realised in
A : Orlando B : Jacob’s Room
C : Mrs. Dalloway D : To the Light House

Which one of the novels of Dickens Opens with the words. “It was best of times. It was the worst of times” ?
A : A Tale of Two Cities B : Hard Times
C : Great Expectations D : David Copperfield

How much money did Whisky Priest have at the time of arresting ?
A:1Peso B : 2 Pesos C : 25 centavos D : 45 centavos

Match the following characters from “Measure for Measure” with their apt roles :

(& Isabella 0] servant to Mistress Overdone

(b) Pompey (i) a friar

(c) Barnadine (iii) sister to Claudio

(d) Peter (iv) a dissolute prisoner

Az @-0), (b)-(ii), (c)-(iii), (d)-(iv) B : (a)-(iv), (b)-(iiii), (c)-(ii),(d)-(i)
C:@-(ii), (0)-(), (c)-(v), (d)-(ii) D : (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

“| dreamt there was an Emperor Antony ............
His legs bestrid the ocean

Think you there was or might be such a man

As this | dream of ?”
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Who speaks these words in “Antony and Cleopatra” ?
A : Octavius B : Enobarbus C : Dolabella D : Cleopatra

“O, I do fear thee, Claudio, and | quake

Lest thou a feverous life shouldst enterain, And six or seven winters more respect,

Than a perpetual honour”.

The above lines are spoken by whom to Claudio in Shakespeare’s play ‘Measure for Measure’ ?
A : Isabella B : Duke Vincentio of Vienna

C : Angelo D : Escalus

Which play was a reviser of old play written by Shakespeare ?
A : Macbeth B : Measure for Measure C : Tempest D : Henry VI

Which play of Shakespeare ends without a climax ?

A : Troilus and Cressida B : Antony and Cleopatra C: Asyou like it D : Twelfth Night
Blanche Du Bois is Stella’s in “A Street car named Desire”.
A : neighbour B : niece C : mother D : sister

Henry David Thoreau’s, statement “And | am sure that | never read any memorable news in a Newspaper”,
makes prominent use of :

A : Ambiguity B : Hyperbole C: Zeugma D : Symbolism

Which of the following is the subtitle of the play “The Hairy Ape” by O’Neill.

A : Filthy beast B : Modern Prometheus

C : A Comedy of Ancient and modern life D : Yank’s world

Who is the only successful, self-made in “Death of a salesman” ?
A: Ben B : Willy Loman C : Happy D : Biff

Who wrote the book ‘The Owl in the Attic’ ?
A : Tennesse Williams B : Thoreau C : James Thurber D : William Faulkner

In ‘The Dying Eagle’, the aeroplane symbolises.
A : Modernism B : Beauty C : High altitude D : Purity of soul

The traditional tribal society of Africal transcreated by Chinua Achebe in his novel ‘Things Fall Apart’ is
A : Obierika B : Uganda C : Umufia D : Nigeria

Chinua Achebe’s Things Fall Apart narrates the rise and fall of which of the following character ?
A : Nwoye B : Okonkwo C : Okoye D : Ezeula

H.D. Hope describes Australia as a nation of :
A : Trees B : Cows C: Ants D : Donkeys

Okoye is a musician. He plays on :
A : Violin B : Ogene C : Piano D : Veena

Who attempt to identify the distinctively femine subject matters in literature written by women ?
A : Liberal humanists B : New historicists C : Androcritics D : Gynocritics

Who believed that these three disciplines — epistemology, ethics and aesthetics — could be connected only

formally ?
A : Jurgen Habermas B : Frederic Jameson
C : Jean - Francois Lyotard D : Louis Althusser

Which of the following news agencies was started in 1949 ?
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A : The Press Trust of India (PTI) B : United News of India (UNI)
C : United Press of India (UPI) D : The Free Press of India (FPI)

Simone Beauvoir’s first philosophical essay is :
A : She came to stay (1943) B : The Ethics of Ambiguity (1947)
C : Pyrrhus and Cineas (1944) C : The Second Se (1949)

Who is responsible for constructing a good headline in a newspaper ?
A : Sub-editor or the copy reader B : The photographer
C : The Artist D : The proofman

One’s knowledge of a particular language is one’s
A : Parole B : Status

C : Linguistic Competence D : Epression

is both broader and narrower than reference.

A : Proxis B : Deixis C : Classics D : Basics
The is the maximum unit of grammatical analysis.
A : sentence B : word C : morpheme D : paragraph

What is known as the earliest Egyptian texts ?
A : logographs B : hieroglyphs C : ideograms D : pictograms

Words such as ‘Phone’ and ‘Auto’ are instance of .
A : Back-formation B : Clipped Forms C : Blending Words D : Acronyms

The Terms ‘Tension’, ‘Extension’ and ‘Intension’ are associated with :
A : Cleanth Brooks B : Allen Tate C : William Empson D : Lionel Trilling

Which of the following has the power to produce complex patterns of highly concentrated meaning according to

Empson ?

A : Poetry B : Novel C : Biography D : Prose

According to Northrop Frye, is the central informing power that gives ‘archetypal significance to the
ritual and archetypal narrative to the oracle.”

A : Analogy B : Miracle C : Myth D : Mystery

Lionel Trilling used for the interpretation of literary texts.

A : Guidance and Counselling B : Psychotherapy

C : Psychoanalysis D : Hypnotism

Sigmund Freud’s ‘Interpretation of Dreams’ in 1900 paved way for the criticism.

A : Deconstruction B : Psycho-analytic C : Reader-Response D : Marxist

What does Northrop Frye find with criticism in Learned Journals and Monographs ?
A : Allegory B : Naturalism
C : Paradox D : Characteristic of Science

Who has authored the book “The Great Chain of Being” ?
A : Love joy B : John Jay Chapman
C : Cleanth Brooks D : Robert Penn Warren

Who said, “the Beauty of the poem is the flowering of the whole plant, and needs the stalk, the leaf and the
hidden roots* ?

A : Northrop Frye B : William Empson C : Cleanth Brooks D : Allen Tate

Who is the author of the poem “Eight Air Force” ?
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A : John Donne B : William Wordsworth C : Randall Jarrell D:T.S. Eliot

The process through which a person attempt to alter the attitudes of one or more others is called :
A : Preservation B : Persuasion C : Perception D : Proactiveness

The phase at which a child can master a task if given appropriate help and support is :
A : Zonal of proximal development B : Zone of proximal development
C : Zone of proximal task D : Zone of perceptual development

According to Jung, the archetype representing the female side of males is :
A : Animea B : Anima C : Animus D : Amnesia

The principle according to which the ego operates, in which the external consequences of behaviour are
considered in the expression of impulses from the id :
A : Moral Principle B : Reality Principle C : Pleasure Principle D : Social Principle

The first group test of intelligence was :
A :The TAT B : The army Alpha C : The Standard Binet D : The AGCT

People who tend to perceive a pattern as a whole are :
A : Field dependent B : Field independent
C : Cognitive dependent D : Cognitive independent

Which theory suggests the events effect motivation through the individual’'s perception of the events as
controlling behaviour or providing information ?

A : Cognitive evaluation theory B : Cognitive development theory

C : Cognitive dissonance theory D : Cognitive overloading theory

Treatment of everyday problems is more often referred to as :
A : Counseling B : Psychotherapy C : Guidance D : Behaviour therapy

Which of the following is not a projective technique ?
A : Rorschach Inkblot Test B : Thematic Appreception Test
C : Science — Completion Test D : Maudsley Personality Inventory

The individual’s perception of her ability to dal with different types of situation is :
A : Self-regulation B : Self-reinforcement C : Self-efficacy D : Self-esteem

According to Erikson, the chief task of the adolescent is to develop a sense of :
A : Belongingness B : Personal identification C : Leadership D : Stress and Strom

The anarchic theory was mainly propagated by :
A : J.P. Guilford B : Edward Thorndike C : Howard Gardner D : Alfred Binet

A person thinks that someone is always trying to trouble him. This feeling of fear is because of :
A : Delusion of persecution B : Delusion and Hallucination
C : Delusion and lllusion D : Delusion of Grandeur

In Stanford-Binet scale, the Human Intelligence quotient between 20 and 49 is termed as :
A : Borderline Deficiency B : Moron C : Imbecile D : Idiot

The artificial system for forming association between words, letters and numbers is called :
A : Logical Method B : SQ3R Method C : Mnemonic Method D : Association Method

The worry connected with fear or gloominess creates :
A : Anger B : Hatred C : Grief D : Disgust
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The process of altering our existing schemas in the light of new information is :
A : Accommodation B : Assimilation C : Cognition D : Equilibration

Averil found that most people become angry :
A : Once a day B : Once a week
C : Several times a week D : Several times a month

A natural endowment which enables a living organism to respond in a certain way without experience and
learning is called :
A : Instinct B : Insight C : Intellect D : Intensity

Torrance’s Test of creativity does not include :
A : Picture Completion Test B : Block Design Test
C : Figural Construction Test D : Product Improvement Test

The book “Psychology, the Science of Behaviour” was written by :
A : Robert L. Issacson and Max L. Hutt B : John B. Watson and Gustav Fechner
C : Wolfgang Kohler and Kant Koffura D : Kant Koffura and Man L. Hutt

Which one of the following is the best method that the school can adopt to prevent problematic behaviour in the
students ?

A : Interesting method of education B : Balanced curriculum

C : Proper use of educational apparatus D : Presentation of high ideals by teachers

One of the most common ways in which children form attitudes is through ?
A : the mere exposure effect B : the beliefs about their personality
C : observational learning D : the information received from social environment

The type of attention triggered by effort, is known as :
A : Implicit attention B : Habitual attention C : Explicit attention D : Forced attention

Which gland creates hyper sexual traits in men or women ?
A : Adrenal gland B : Thyroid gland C : Pituitary gland D : Gonads gland

Which need is followed by self-esteem needs in Hierarchy theory of Maslow ?
A : Love and belonging needs B : Stimulation needs
C : Self-actualisation needs D : Safety needs

The decrease in efficiency arising out of the feeling that he/she being observed by others is called :
A : Emotional inhibition B : Cognitive inhibition C : Cognitive dissonance D : Social inhibition

Which one of the following is not the characteristic of ‘id’ ?
A : Immediate gratification B : Controlling the conscious action
C : Pressure of excessive wishes D : Unfulfilled libidinal striving

A child might be able to recognize that his or her dog is a Labrador, that a Labrador is a dog, and that dog is an
animal is the example for
A : Logical Thinking B : Inductive Reasoning C : Reversibility D : Conservation

Which of the following is not the characteristics of ‘Growth’ ?
A : Growth is quantitative B : Growth is objectively observable
C : Rate of growth is uniform D : Individual differences exist in growth

Which district of Tamil Nadu leads in the inland fishing ?
A : Cuddalore B : Sivagangai C : Virudhunagar D : Vellore

Statement 1 : The Grand Anaicut, also called as Kallanai was built across the river Cauvery.
Statement 2 : The northern branch Cauvery is called Kollidam.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

143.

144,

145.

146.

147.

148.
149.

150.

A : Statement 1 true 2 is wrong B : Both Statement are true
C : Statement 1 is wrong 2 is true D : Both Statements are wrong

research station is located in Thanjavur.
A : Paddy B : Wheat C : Sugarcane D : Millets

Statement | : Mangroves helps in the Prevention of Coastal erosion from waves and storms.

Statement Il : Mangroves protects coral reefs and sea grass meadons from being smothered sediments.
A : Statement | and Il wrong B : Statement | and Il right

C : Statement | is right, Statement Il is wrong D : Statement | is wrong, Statement Il is right

In our human body the synaptic signals are produced by :
A : Chemical process B : Elastic process
C : Electro chemical process D : Pressure process

The first Indian Women participant in the Olympic after Independence is :
A:P.T.Usha B : Sakshi Malic C : Mary Kom D : Marrie Lila Rao

Expand the term IARI :
A : Indian Animals and Research Institute B : Indian Agriculture and Resue Institute
C : Indian Agricultural Research Institute D : Indian Agricultural and Reycle Institue

Which one of the following is used as antiacids ?
A : Milk of Magnesia B : Aspirin C . Paracetamol D : Penicillin

Mangalyan was a
A : Moons vehicle B : Mercury vehicle C : Mars vehicle D : Earth vehicle

In which district the river Cauvery branches into two parts.
A : Dharmapuri B : Tiruchirappalli C : Cuddalore D : Salem
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